TH2SEZHE THAR/\ YT 1 F o v J(U-sys) TILTREAS
BF miEx

Rank %81 g GROSS HDCP NET
1 MEB sAz YU 101 (5051) 34 67
2 KB (EFX 3-wsvuroz 85 (41,44) 13 72
3 B K= BBAENII 83 (42,41) 9 74
4 IBX FEN FEHS 80 (40,40) 6 74
5 I B £ 87 (45,42) 12 75
6 HBP M= Z28-1£% 89 (4544) 14 75
7 Bk 1E— S 92 (48,44) 16 76
8 Em EZ BE72 97 (50,47) 21 76
9 B HEA W 87 (44,43) 11 76

ME. & @B

10 BKX [kt M5 92 (45,47) 16 76
11 3K 5h ERMHE 83 (41,42) 6 77
12 O B BREINII 81 (40,41) 4 77
13 BN B R=Nse 87 (45,42) 9 78
14 @ st 3ENII 94 (48,46) 16 78
15 B —2 FE= 86 (45,41) 7 79
16  #9K B4 ARENII 85 (44,41) 6 79
17 %03 #8 3AENII 86 (47,39) 6 80
18 K8 BE FEH= 88 (44,44) 8 80
19 B9 [EE FE= 91 (44,47) 10 81
20 8 B T 84 (46,38) 1 83
21 18H B 3ra Nl 99 (49,50) 16 83
22 BTy —% e 99 (48,51) 16 83
23 LB I8 1—=2tovr 101 (49,52) 18 83
24 RBIFF —5 FTe 91 (49,42) 6 85
25 278 FHE 1-2+vv k112 (58,54) 27 85
26 WmH KRE FE= 93 (48,45) 8 85
27 RX FHe T 97 (44,53) 12 85
28 N0 I8 +—2+ovr 104 (51,53) 18 86
29 &R 19 Kb 102 (47,55) 13 89
30 &AM KR 111 (57,54) 19 92
31 KW R S 113 (58,55) 18 95
32 IR B N-E=-eurx 118 (62,56) 16 102
£ BB B FEH= 6

EiE B HE FEHS 22

88278 (1)
FE=Z NIV —=DS5T (6507 7yards Par72)



THOSERS 1 EIFAR/\YT 1 F v v T (U-sys) TILITREAS
4F BiEE

Rank &7 Fhig GROSS HDCP NET
1 BXR ZE &)W 90 (47,43) 26 64
2 BN BT AR 82 (42,40) 10 72
3 FE HF BE 80 (41,39) 8 72

ME, F2 @8

4 TH NF FEH=S 87 (45,42) 12 75
5 W ZF FE= 90 (44,46) 14 76
6 BR¥F aAxE &I 88 (42,46) 12 76
7 BB =iE BR 93 (49,44) 16 77
8 1L MNF FE=S 89 (45,44) 12 77
9 B WF r—2tuvE 93 (4548) 15 78
10 ML =+ B8 84 (41,43) 5 79
11 KX Z=F AN 89 (44,45) 10 79
12 &F% FEF 5 89 (44,45) 6 83
13 M HF FEHS 102 (52,50) 17 85
Rig B JF FEH= 13

88278 (1)
FE=ZAHYWYVI—D5T(5418yards Par72)



